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UNIVERSITY OF MUMBAI’S
GARWARE INSTITUTE OF CAREER EDUCATION AND DEVELOPMENT

ENTRANCE EXAM QUESTION PAPER

UGDCC&FF
DATE: 15/07/2022 TIME: 11.00 AM TO 12.00 PM MARKS: 50
Q1] MULTIPLE CHOICE QUESTION [2 MARKS EACH] [50]

1] Which country has approved a rapid saliva test to detect Covid-1 9 named “Saliva Direct’?
[A] China

[B] United States

[C] Russia

[D] United Kingdom

2] The term “Tee” is used commonly in which among the following sports?

3] Who is ranked number one women’s tennis player in the world in 2017 as per WTA?
[A] Serena Williams

[B] Simona Halep

[C] Garbine Muguruza

[D] Victoria Azarenkatical Stock

reedom of Press is implicit under which article of Constitution of India?

[A] Article 19
[B] Article 20
[C] Article 21
[D] Article 22

o
i

5] If demand in units is 18000, relevant ordering cost for each year is $150 and annual
carrying cost is 25% with unit cost $40 then the economic order quantity is:

[A] 700 units

[B] 690 units

[C] 735 units

[D] 810 units

6] Patanjali is well known for the compilation of —(a) Yoga Sutra(b) Panchatantra(c) Brahma

Sutra(d) Ayurveda

[A] Yoga Sutra
(B] Panchatantra
[C] Brahma Sutra
[D] Ayurveda
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'] Indus river originates in
[A] Kinnaur

[B] Ladakh

[C] Nepal

[D] Tibet

8] The hottest planet in the solar system?
[A] Mercury

[B] Venus

[C] Mars

[D] Jupiter

9] The Dr. Babasaheb Ambedkar Marathwada University is at which of the following

places?

[A] Aurangabad
[B] Nanded

[C] Parbhani
[D] Nagpur

10] The Indian Institute of Science is located at
[A] Kerala

[B] Madras

[C] Bangalore

[D] New Delhi

11] Which city is known as 'Electronic City of India'?
[A] Mumbai

[B] Hyderabad

[C] Guragon

[D] Bangalore

12] Siachen is a

[A] desert frontier zone between India and Pakistan
[B] frontier zone between China and India

[C] frontier zone between India and Myanmar

[D] glacier frontier zone between India and Pakistan
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13] Where is the headquarters of Oil and Natural Gas Commission?
[A] Dehradun

[B] Vadodara

|C] Digboi

[D] Mumbai

14] ICICI is the name of a
[A] chemical industry

[B] bureau

[C] corporation

[D] financial institution

15] Depreciation means

[A] closure of a plant due to lock out

] closure of a plant due to labor trouble

] loss of equipment over time due to wear and tear

D] destruction of a plant in a fire accident

(B
[C
[

16] Which was the 1st non Test playing country to beat India in an international match?
[A] Canada

[B] Sri Lanka

[C] Zimbabwe

[D] East Africa

17] Who is the first Indian woman to win an Asian Games gold in 400m run?

[A] M.L.Valsamma
[B] P.T.Usha

[C] Kamaljit Sandhu
[D] K.Malleshwari

18] Which of the following is used in pencils?
[A] Graphite

[B] Silicon

[C] Charcoal

[D] Phosphorous
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19] Who was known as Iron man of India?
|A] Govind Ballabh Pant

[1B] Jawaharlal Nehru

|C'] Subhash Chandra Bose

| D] Sardar Vallabhbhai Patel

20| The Indian to beat the computers in mathematical wizardry is
|A] Ramanujam

[B] Rina Panigrahi

[C] Raja Ramanna

[ D] Shakunthala Devi

21] Which of the following was Satyajit Ray associated with?
|A] Classical music

[B] Commercial art

|C] Film Direction

[D] Classical dance

22] Amjad Ali Khan is associated with which of the following musical instruments?
[A] Sarod

[B] Veena

[C] Violin

[D] Sitar

23] In which year was Pulitzer Prize established?
[A] 1917

[B] 1918
[C] 1922
[D] 1928

24] The lead character in the film 'The Bandit Queen' has been played by
[A] Rupa Ganguly

[B] Seema Biswas

[C] Pratiba Sinha

[D] Shabama Azmi
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25] Which of the following metals forms an amalgam with other metals?
[A] Tin

[B] Mercury
[C] Lead
(D] Zinc
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UNIVERSITY OF MUMBATI’S

GARWARE INSTITUTE OF CAREER EDUCATION AND DEVELOPMENT

ENTRANCE EXAM QUESTION PAPER

BMS (CCFF&L)
DATE: 15/07/2022 TIME: 11.00 AM TO 12.00 PM MARKS: 50
Q1] MULTIPLE CHOICE QUESTION [2 MARKS EACH] [50]

Which country has approved a rapid saliva test to detect Covid-19 named Saliva Direct’?

1]

[A] China

(B] United States
[C] Russia

(D] United Kingdom

2] The term “Tee” is used commonly in which among the following sports?

A] Tennis

3] Who is ranked number one women’s tennis player in the world in 2017 as per WTA?

A] Serena Williams
B] Simona Halep

C] Garbine Muguruza
D]

[
[
[
[D] Victoria Azarenkatical Stock

4] Freedom of Press is implicit under which article of Constitution of India?

[A] Article 19
[B] Article 20
[C] Article 21
[D] Article 22

5] If demand in units is 18000, relevant ordering cost for each year is $150 and annual
carrying cost is 25% with unit cost $40 then the economic order quantity is:

[A] 700 units
[B] 690 units
[C] 735 units
[D] 810 units

6] Patanjali is well known for the compilation of —(a) Yoga Sutra(b) Panchatantra(c) Brahma

Sutra(d) Ayurveda
[A] Yoga Sutra
[B] Panchatantra
(C] Brahma Sutra
[D] Ayurveda
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'] Indus river originates in
[A] Kinnaur

[B] Ladakh

[C] Nepal

[D] Tibet

8] The hottest planet in the solar system?
[A] Mercury

[B] Venus

(C] Mars

[D] Jupiter

9] The Dr. Babasaheb Ambedkar Marathwada University is at which of the following
places?

[A] Aurangabad
(B] Nanded

(C] Parbhani
[D] Nagpur

10] The Indian Institute of Science is located at
[A] Kerala

[B] Madras

[C] Bangalore

[D] New Delhi

11] Which city is known as 'Electronic City of India'?
[A] Mumbai

[B] Hyderabad

[C] Guragon

[D] Bangalore

12] Siachen is a

[A] desert frontier zone between India and Pakistan
[B] frontier zone between China and India

[C] frontier zone between India and Myanmar

[D] glacier frontier zone between India and Pakistan
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13] Where is the headquarters of Oil and Natural Gas Commission?
[A] Dehradun

[B] Vadodara

[C] Digboi

[D] Mumbai

14] ICICI is the name of a
[A] chemical industry

[B] bureau

[C] corporation

[D] financial institution

15] Depreciation means

[A] closure of a plant due to lock out

[B] closure of a plant due to labor trouble

[C] loss of equipment over time due to wear and tear
[D] destruction of a plant in a fire accident

16] Which was the 1st non Test playing country to beat India in an international match?
[A] Canada

[B] Sri Lanka

[C] Zimbabwe

[D] East Africa

17] Who is the first Indian woman to win an Asian Games gold in 400m run?
[A] M.L.Valsamma

[B] P.T.Usha

[C] Kamaljit Sandhu

[D] K Malleshwari

18] Which of the following is used in pencils?
[A] Graphite

[B] Silicon

[C] Charcoal

(D] Phosphorous
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19] Who was known as Iron man of India?
[A] Govind Ballabh Pant

[B] Jawaharlal Nehru

[C] Subhash Chandra Bose

[D] Sardar Vallabhbhai Patel

20] The Indian to beat the computers in mathematical wizardry is
[A] Ramanujam

[B] Rina Panigrahi

[C] Raja Ramanna

[D] Shakunthala Devi

21] Which of the following was Satyajit Ray associated with?
[A] Classical music

[B] Commercial art
[C] Film Direction
[D] Classical dance

22] Amjad Ali Khan is associated with which of the following musical instruments?
[A] Sarod

[B] Veena

(C] Violin

[D] Sitar

23] In which year was Pulitzer Prize established?
[A] 1917
[

24] The lead character in the film 'The Bandit Queen' has been played by
A] Rupa Ganguly

Seema Biswas

Pratiba Sinha

Shabama Azmi
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Which of the following metals forms an amalgam with other metals?
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GARWARE INSTIT

UNIVERSITY OF MUMBAI’S

UTE OF CAREER EDUCATION & DEVELOPMENT

DIPLOMA IN CUSTOMS CLEARANCE & FREIGHT FORWARDING

(DCC&FF)

ENTRANCE EXAMINATION

DATE : 02-JUL-17 TIME : 11.00 AM TO 12.00 NOON

MARKS : 50

NOTE:

» DO NOT CARRY MOBILE IN THE EXAMINATION HALL
» ONE MARK EACH QUESTION

Aptitude:

1)

2)

3)

4)

5)

6)

1397 x 1397 =?
a. 1951609

b. 1981709

c. 18362619
d. 2031719

The largest 4 digit number exactly divisible by 88 is:
a. 9944

b. 9768
c. 9988
d. 8888

How many times are the hands of a clock at right angle in a day?
a. 22

b. 24

c. 44

d. 48

At 3:40, the hour hand and the minute hand of a clock form an angle of:
a. 120 degrees

b. 125 degrees

c. 130degrees

d. 135 degrees

Find the odd one out: 8, 27, 64, 100, 125, 216, 343
a. 27

b. 100

c. 125

d. 343

3;5,7;,12,:17,19
a. 19

b. 17

C. 5

s 12




7) Aand B invest in a business in the ratio 3: 2. If 5% of the total profit goes to charity
and A's share is Rs. 855, the total profit is:

a. Rs.1425
b. Rs.1500
¢. Rs.1537.5
d. Rs.1576

8) A sum of money is to be distributed among A, B, C, D in the proportionof 5:2:4: 3.
If C gets Rs. 1000 more than D, what is B's share?

a. Rs.500

b. Rs.1500

c. Rs.2000

d. None of these.

9) Today is Monday. After 61 days, it will be:
a. Wednesday '
b. Saturday
c. Tuesday
d. Thursday

10) Which of the following is not a leap year?

a. 700
b. 800
c. 1200
d. 2000

11) Arectangular park 60 m long and 40 m wide has two concrete crossroads running
in the middle of the park and rest of the park has been used as a lawn. If the area
of the lawn is 2109 sq. m, then what is the width of the road?

a. 2.91m

b. 3m

c. 5.82m

d. None of these.

12) Arectangular field is to be fenced on three sides leaving a side of 20 feet
uncovered. If the area of the field is 680 sq. feet, how many feet of fencing will be

required?
a. 34
b. 40
c. 68
d. 88




Verbal Ability:

13) Find the correctly spelt word:
a. Comitte

b. Committee
c. Committee
d. Comiittee

14) Find out whether there is any grammatical error in below sentences:

a. An Indian ship

b. laden with merchandise

c. gotdrowned in the Pacific Ocean
d. No error

15) Choose the one which can be substituted for the given word/sentence:
List of the business or subjects to be considered at a meeting

Schedule

Timetable

Agenda

a0 oo

Plan

16) Success in this examination depends ...... hard work alone.

a. At
b. Over
c.—kFor
d. on

17) Choose the word which best expresses the meaning of the given word:

ALERT
a. Energetic
b. Observant
c. Intelligent
d. Watchful

18) The officer who had neglected to files his income tax returns had to......
return the files

pay a fine

be rewarded

a0 T o

play mischief

3o



19) Choose the word which is the exact OPPOSITE of the given words.’
ENORMOUS

Soft

Average

20) Choose the one which can be substituted for the given word/sentence:

o 0 T w

a
b.
-
d

Tiny
Weak

Parts of a country behind the coast or a river's banks
Isthmus
Archipelago
Hinterland

. Swamps

Logical Reasoning:

21) Artist is to painting as senator is to

a
b.
c
d

Attorney
Law
Politician
Constituents

22) Sponge is to porous as rubber is to

23)

24) Look at this series: 201, 202, 204, 207, ... What number should come next?

a0 oo

oo o P

- B o T - -

Massive
Solid
Elastic
Inflexible

Look at this series: 2, 6, 18, 54, ... What number should come next?
108
148
162
216

205
208
210
211
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25) Which word does NOT belong with the others?
Street .
Freeway

Interstate

a oo

Expressway

26) Which word does NOT belong with the others?
Couch

Rug

Table

Chair

a oo W

27) Fill the blank: QAR, RAS, SAT, TAU,
UAV
UAT
TAS
TAT

a0 oo

28) Fill the blank: SCD, TEF, UGH, ____, WKL
CMN

uJl

Vi)

uT

a0 oo

29) Choose the word that is a necessary part of the word — ELECTION:
a. President
b. Voter
c. November
d. Nation

30) Choose the word that is a necessary part of the word — LIGHTNING:
a. Electricity
b. Thunder
c. Brightness
d. Rain

<Clio



Puzzles:

31)
OEO®
00000,
0000000
90000,
000
.
o
32)
Of
£
)
(=)
&)
G
s
g



34)

o 0 T o

Which letter replaces the question mark?

) ®

mo >z

Which letter replaces the question mark?

oo o

T =< >0

Current Affairs:

35) Which of the following country placed in top five consumer markets in Asia?

a
b
C.
d

India
Israel
Syria
Japan

7/iv



36) Which bill will US president Donald Trump replace?
Obamacare

GOP Bill

Goods Bill

Corporate Bill

o e oW

37) Which country has become the world's largest importer of Liquefied Petroleum
Gas (LPG), according to Petroleum Planning & Analysis cell?

a. China
b. Bhutan
c. Japan
d. India

38) This state launched the Wi-Fi project over 1,000 public places inthe city.

a. Kerala

b. Tamilnadu
c. Telangana
d. Uttar Pradesh

39) Which state CM presented a tax-free budget of Rs. 6,945 crore for 2017-18?

a. Kerala

b. Puducherry
c. Tamilnadu

d. Andra Pradesh

40) Which state government recently passed the GST bill?
Bihar

Assam

Karnataka

Uttar Pradesh

oo oo

41) Who is the head of the GST council?
a. Shashi Kant Das
b. Amit Mitra
c. Arun Jaitley
d. Hasmukh Adhia

42) The United Nations Conference on Trade and Develooment (UNCTAD) is located at
which of the following places?

a. Geneva
b. Rome
c. Paris
d. Vienna

g/'lc



43) Which ministry bans the cattle slaughter Across India?
Ministry of Environment

Ministry of Civil Aviation

Ministry of Human Resource Development

Ministry of Agriculture and Farmer Welfare

Qo oo

44) Which port has topped the list in the first-ever ranking of the ports on Sanitation
Parameters under the Union Ministry of Shipping?

Kandla Port

Cochin Port

Haldia Port

Vizag Port

a0 oo

45) What is the name of the E-vehicle company which is inaugurated at Nagpur?
a. UBER

b. OLA

c. FASTTRACK
d. INDIA Cabs

Comprehension:

At this stage of civilization, when many nations are brought in to close and vital contact for
good and evil, it is essential, as never before, that their gross ignorance of one another
should be diminished, that they should begin to understand a little of one another's
historical experience and resulting mentality. It is the fault of the English to expect the
people of other countries to react as they do, to political and international situations. Our
genuine goodwill and good intentions are often brought to nothing, because we expect
other people to be like us. This would be corrected if we knew the history, not necessarily in
detail but in broad outlines, of the social and political conditions which have given to each

nation its present character.
46) According to the author of 'Mentality' of a nation is mainly product of its
History

a
b. International position
c. Politics

d

Present character

47) The need for a greater understanding between nations
Was always there -

Is no longer there

Is more today than ever before

Qe B W

Will always be there

9/10



48) The character of a nation is the result of its_
Mentality

Cultural heritage

Gross ignorance

a0 oo

Socio-political conditions

49) According to the author his countrymen should

a0 oo

50) Englishmen like others to react to political situations like

a0 op

read the story of other nations

have a better understanding of other nations
not react to other actions

have vital contacts with other nations

Us
Themselves
Others

Each others

3% 3%k %k % % %k k %k k
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SEAT NO. SUPERVISOR’S SIGN :

UNIVERSITY OF MUMBAT’S
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
DIPLOMA IN CUSTOMS CLEARANCE & FREIGHT FORWARDING
(DCC&FF)
ENTRANCE EXAMINATION

SECOND RoOoUND

DATE : 20-JUL-17 TIME : 11.00 AM TO 12.00 NOON - MARKS : 50

NOTE:

DO NOT CARRY MOBILE IN THE EXAMINATION HALL.
PUT A TICK (+v) ON THE CORRECT ANSWER OPTION ON THE GRID PAPER.

RETURN GRID PAPER & QUESTION PAPER SEPARETELY

NO OVERWRITING IS ALLOWED
FACH OTTRSTION (CARRTRFS ONF MARK

VVVVYYV

1)42 + 73 + 137 =2 .
() 352 (b)252 (c)242(d) 142 (e) none of these

2)0.7x0.5=?
(@35 (b)0.35 (c)0.00035 (d) 0.035 (e) none of these

3)20x Y2 =?
(@4 ()5S (c)12(d) 20 (e) none of these

4) At 10 paise each, how many paise will 6 lemon cost?
(@6 (b)10 (c)60(d)61 (e)6.10

5) Which of the following can be exact multiple of 4?
(a) 27114  (b) 58204 (c) 48402 (d) 32286 (e) none of these

6) If the profit made by selling a pen for Rs. 10 is as much as is cost. What is the cost price of the
pen?
(@) Rs.3/-  (b)Rs.5/- (c) Rs.10/- (d) Rs.20/- (e) none of these

7) Rajesh walked 6 km towards east. Then he turned to his right and walked 10 km. He again
turned to his right and walked 6 km. He then turned to his left and walked 15 km. At what
distance is he from the starting point and in which direction?

(@) 15 km -south  (b) 21 km -north (c) 25 km -south (d) 21 km -south (e) none of these

8) In a row Neeta is 8" from the right and Raja is 16" from the right. How many boys are there
in that row?

(@22 (b)23 (c)24 (d) Data Inadequate (e) none of these

9) How many 6 are there in the following number sequence which are immediately preceded by
5 but not immediately followed by 7?

5 6 7 2 5 6 4 9 2 7 6 7 4

3 5 6 8 6 4 9 5 6 1
@1 ()2 (c)3 (d)4 (e)none of these

116



10) How many 2’s are neither followed nor preceded by 8?
567289527289742967289429728298228
(@) One (b) Two (c) Three (d) Four (e) none of these

11) If ‘+’ means ‘x’ , ‘-’ means =’ , ‘x’ means ‘-’ and ‘=’ means ‘+ then
6+36-4x3+4=?
(@5 (b) 14 (©) 10 (d)3 (e) none of these

12) Suraj is heavier to Aakash but not as heavy as Rahul. Aakash is heavier to Jai. Kumar is
heavier to Suraj but lighter than Rahul. Who among them is the heaviest?
(a) Suraj  (b) Aakash (c)Rahul (d)Jai (e) Kumar

13) If we make a meaningful work with first, fourth, ninth and the fourteenth letters of the word *
ADMINISTRATION’ which of the following will be the third letter of that word from the right
end of the word?

@N @R (c)A()I (e)none of these

14) Pointing to a man, Rohini said that his wife is the only daughter-in-law of my father-in-law
Mahesh. How is the man related to Mahesh?
(a) Son (b) Uncle (c) Father (d) Brother (e) none of these

15) If the 1** day of the month is Thursday, which of the following would be the fifth day from
the 16™ day of that month?
(a) Wednesday  (b) Thursday (c) Friday (d) Data Inadequate (e) none of these

16) A and B are brothers, C and D are sisters. A’s son is D’s brother. How is B related to C?
(a) Father  (b) Brother (c) Grandfather (d) Uncle (e) none of these

17) If Foot is for Man then Hoof is for?
(@) Leg (b)Dog (c) Horse (d) Boy (e) Shoe

18) If Day is for Night then Kind is for?
(a) Dark (b) Bright (c) Cruel (d) Generous (e) Gratitude

19) If Hut is for Mansion then Rabbit is for?
(a) Hole (b) Carrot (c) Small (d) Elephant (e) Rat

20) Four of the following are alike in certain way and so form a group. Which is the one that

does not belong to the group?
(@aBY (b)DW (¢)GT()JQ (e)LP

20¢



21) Which of the following will come in place of the question mark (?) in the following letter
series?

BYW DUX FQY ?

(@) GMZ (b) HMV (c) GNA (d) HMZ (e) none of these

22) Which is the odd one out — Apple, Orange, Tomato, Mango
(a) Apple (b) Orange (c) Tomato (d) Mango (e) none of these

23) Four of the following five are alike in a certain way and so form a group. Which is the one
that does not belong to that group?
(a) Writer  (b) Printer (c) Publisher (d) Reporter (e) Reader

24) Four of the following five form the same group while one of them does not belong to the
group. Which is it?
(a) Grinder (b) Mixer (c) Whipper (d) Blender (e) Motor

25) Which of the following is the capital of Nepal?
(a) Kathmandu (b) Janakpur (c) Gangtok (d) Thimpu (e) none of these

26) What is the full form of WTO?
(a) Wild Tiger Organization (b) Women’s Team Organization (c) World Trade Organization (d)
What To Order (e) none of these

27) What is the full form of CBEC?
(a) Central Bureau of Excise & Customs (b) Central Board of Excise & Customs (c) Central
Bank of Excise & Customs (d) Centre for Books of Excise & Customs (e) none of these

28) DGFT is known as —
(a) Dept & Group of Foreign Trade (b) Directorate General of Foreign Trade (c) Deputy
General of Foreign Trade (d) Director General of Fixed Taxation (e) none of these

29) Bull’s eye is in —
(a) Table Tennis  (b) Hockey (c) Football (d) Shooting (e) none of these

30) Noor Jahan was the wife of —
(a) Shah Jahan  (b) Jahangir (c) Aurangazeb (d) Akbar (e) none of these

31) Alice in Wonderland was written by:
(a) Lewis Caroll  (b) Mark Twain  (c) Enid Blyton (d) P.G. Woodehouse (e) none of these

32) Horticulture is —

(a) Beekeeping  (b) Science of garden cultivation (c) Science of civing being (d) Science of
Micro organisms (e) none of these

3¢



33) 3PL stands for —
(a) Third Party Leaders  (b) Third Party Logistics (c) Third Party Legislation (d) Third Point
Location (e) none of these

34) The brightest star in the sky is —
(a) Jupiter  (b) Saturn (c) Venus (d) Dogstar (e) none of these

35) You go when you have finished your work.
(@ymay (b)can (c)usedto (d) would (e)might

36) Only the principal grant you concession.
(a) might (b) can (c) would (d) never (e) used to

37) There was a time when I " sleep for 10 hours a day.
(a) haveto (b) notto (c)used to (d) was to (e) none of these

38) As soon as he reached home to rain.
(a) than it began  (b) it began (c) when it began (d) that it began (e) none of these

39) Large-scale departure of people —
(a) Migration (b) Immigration (c) Exodus (d) Aberration (€) none of these

40) Democracy is the most form of government.
(a) resonant  (b) reasoning (c) reasonable (d) residual (e) political

41) There is a bomb away right under our noses but we do not seem to care!
(a) watching  (b) alarming (c) ticking (d) tickling (e) beating

42) Choose the box that is similar to the box formed from the given sheet of paper (X).

.
&
v
(x) (1) (2) (3) (4)

(a) 1 and 2 only
(b) 2 and 4 only
(c) 2 and 3 only
(d) 1 and 4 only

hlé



43) Dumping is
(a) Selling of goods abroad at a price well below the production cost at the home market price.
(b) The process by which the supply of a manufacturer’s product remains low in the domestic
market, which batches him better price.

. (c) Prohibited by regulations of GATT
(d) All of the above.

44) Depreciation means :

(a) closure of plant due to lock out

(b) closure of plant due to labour trouble

(c) loss of equipment over time due to wear and tear
(d) destruction of a plant in a fire accident.

45) ‘Kandla' is situated on the Gulf of Kachh is well known for which of the following?
(a) Export processing zone
(b) Centre for marine food products
(c) Cutting and polishing diamonds
(d) Ship breaking industry.

46) If you smuggle goods into the country, they may be ...... by the customs authority.
(a) Possessed

(b) Punished

(c) Confiscated

(d) Fined

47) Identify the odd figure in the series

] D —

s/t




48) Identify the next figure in the series

L3

a b c d
49) SCD, TEF, UGH, , WKL

(a) CMN
(b) UJI
() VIJ
(d) UT

50)QAR, RAS, SAT, TAU,
(a) UAV
(b) UAT
(c) TAS
(d) TAT

ok ok ok o ok ok sk ko ok ok ok ok
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SEAT NO. SUPERVISOR’S SIGN :

UNIVERSITY OF MUMBAI’S
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
DIPLOMA IN FOREIGN TRADE MANAGEMENT (DFTM),
DIPLOMA IN CUSTOMS CLEARANCE & FREIGHT FORWARDING
(DCC&FF)
THIRD ROUND
ENTRANCE EXAMINATION

DATE : 03-AUG-17 TIME : 11.00 AM TO 12.00 NOON MARKS : 50

NOTE: DO NOT CARRY MOBILE IN THE EXAMINATION HALL.

Instructions: 1. Use of calculator is not allowed. 2. Use sheet provided for any
calculation. 3. There is no NEGATIVE marking. 4. Mark the answers clearly. 4. Each
Question is for ONE mark

Tick mark the correct answer or write the answer wherever indicated so

1. India’s Foreign Trade is between
a. Maharashtra, Gujrat, UP and Delhi
b. All States of India
c. India and Pakistan
d. Any nation of World
2. Foreign Trade is for:
a. Sale of Goods
b. Purchase of Goods
c. Payment of money
d. (a)and (b)
3. Foreign Trade is done for
a. Good relations
b. Helping other nation
c. To show our Strength
d. None of the above
4. GSTis:
Cne tax structure in whole India
Different Tax in different states
No tax at any stage
Abolition of Chungi Naka

oo oo

5. Export /Import is done by:
a. Indian Govt
b. State Govt
c. Businessmen
d. Byalllistedata, bandc
e. By none of above
6. Value of India’s EXPORT is more than IMPORT
a. True
b. False
7. Export is good for India:
a. True

b. False
e



8. Maximum sugar is produced in :
a. Uttar Pradesh
b. Gujrat
c. Rajsthan
d. Goa
9. Seawateris :
a. Sweet
b. Black
c. Yellow
d. Salty
e. None of above
10.India became REPUBLIC in:
a. 1954
b. 1950
c. 1947
d. 1971
11. Mumbai University’s Convocation Hall is located at:
a. Kalina
b. Fort area
c. Goregaon
d. Navi Mumbai
12.GICED conducts :
a. Full time Courses
b. Part Time Courses
c. Both Full Time and Part Time Courses
d. All above is wrong
13.GICED Courses helps students in:
To improve their career
To learn new subjects
To develop confidence
To meet new friends
e. All above
14. UGDFTM Course is of:
a. FOUR Semester
b. THREE Semester
c. TWO Semester
d. SIX Semester
15. After doing UGDFTM Course, student can:
a. Start his / her own EXIM Business house
b. Can join any Export / Import Firm

oo ow
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c. Can do further studies in this field
d. Can start his/her own Consultancy Service
e. All above or any of above listed things

16. Write 269065439.59 in
words:

17.Add 89.05 in 3478. Then MULTIPLY it by 7. Then divide it by 4.5. Answer is

Write here

18.Can you Draw a Triangle ABC, where Angle A = 45 Degree, Angle B is 75

Degree and Angle C is 65 Degree
a. YES
b. NO

IF NO then
Reason

19.India’s national Bird is:

a. Parrot

b. Kabutar

c. Murga

d. Peacock
20.Ajanta Ellora caves are in:

a up

b. MP

¢c. HP

d. Maharashtra
21.Area of a Rectangle is
. Length X Breadth
b. Length X Height
c. Length X Length
d. Breadth X Bredth

)

22.What is 90 kmph as metres per second?
A -15m /sec

B -20 m /sec
C-25m/sec

D -30m /sec



23.What is 35 m/sec as km/hr?

A - 123 km/hr
B - 124 km/hr

C - 125 km/hr

D - 126 km/hr

24.A 75m long train is running at 54 km/hr. In how much time will it cross an electric
pole?

A - 25 sec

B - 20 sec

C-15sec

D-5sec

25. What is fraction equivalent of 32%.

A -6/30

B -8/25

C-7/50

D-11:10

26. What is decimal equivalent of 0.8%.

D - 0.0008



27. What is decimal equivalent of 18%.
A - 0.0018

B-0.18

c-18
D-0.018
28.- On the off chance that a:b=2:3 and b:c=5:7, discover a:c.
A-10:11 ‘
B - 10:21
C-21:10
D-11:10
29. School of Tropical Medicine is located in ...

A - Kolkata

B - Bengaluru

C - Mumbai

D - New Delhi

30. Who was the first Indian Pilot.

A-J.RD. Tata

B - Ram Charan

C - Chitranjan Das

D - Captain Shamsher Singh




31. Gol Gumbaz is located in ...

A - Karnataka

B - Odisha

C - Maharashtra

D - Andhra Pradesh

32.Where was Shivaji Maharaj born?
a. Shivneri
b. Pune
c. Raigadh
d. Mumbai

33.Who was Shivaji's Guru (Mentor)
a. Samarth Guru Ramdas
b. Sant Namdev
c. Sant Gyneshwar
d. Sant Gadge Maharaj
34.Shivaji’s big statue is being planned in
a. Pune
b. Mumbai
c. Nashik
d. Nagpur
35. Shivaji’s capital was:
a. Sholapur
b. Aurangabad
c. Pune
d. Kolhapur
36.India’s Presisident is:
a. Sonia Gandhi
b. Ram Nath Kovind
c. Narendra Modi
d. Ram Charan Singh

37.Following are Vice Prsident candidates:

a. Hemant Patil
Sharad Pawar
Bhujbal

Farookh Abdullah
None of above

®oo0o
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38.Who is Supreme Commander of Indian Armed Forces:
a. President of India
b. Chief Justice of India
c. Prime Minister of India
d. Defence Minister of India
39.Armored Vehicle ie Tanks is used in war by
a. Navy
b. Air Force
c. Army
d. CRPF
40. Write down the name of highest educational qualification which you have
achieved:

41. Eden Gardens in Kolkata is stadium for which game?
A. Tennis

B. Cricket
C. Polo
D. Hockey

42.1n scorpion, poison is present in the
A. leg

B. hand
C. sting
D. mouth
43. Rabies is transmitted by

A. bugs

B. flies

C. infected mad dogs
D. mosquitoes

44. The ratio between the length and breadth of our tricolour national flag according
to our Constitution is

A.3:1
B8.3:2
C.3:3
D:3:4

T8



45. The minimum age for being eligible to become the prime minister of India is

A. 21 years
B. 25 years
C. 30 years
D. 35 years

46.To which of the following political parties does the present Lok Sabha speaker
belong?

A. BJP

B. TMC

C. INLD

D. Shiv Sena

47.What is the minimum years of age for the candidate for an office of the Vice-
President?

A. 25
B. 30
C.35
D. 28

48.Next to Hindi, the language spoken by the largest number of people in the Indian
suncontinent is

A. Tamil
B. Urdu
C. Bengali
D. Telugu

49.\What is 48 % of 598217 Write answer
here

50. Gadhchiroli District is in which state? Write Answer
here
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SEATNO.: AL

UNIVERSITY OF MUMBAI
UTE OF CAREER EDUCATION & DEVELOPMENT

GARWARE INSTITL
JSTOM CLEARANCE & FREIGHT FORWARDING

DIPLOMA IN CH

(DCCFF)
ENTRANCE EXAM
DATE: 28-Jun-15 TIME : 10.00AM TO 11.008m~ MARKS : 50
NOTE: PUT A TICK (\) ON THE CORRECT ANSWER OPTION ON GRID PAPER.

RETURN GRID PAPER & QUESTION PAPER SEPARETELY.

General Knowledge

1} For which of the following disciplines is Nobel Prize awarded?
A. Physics and Chemistry
B. Physiology and Medicine
C. Literature, Peace and Economics
D.« All of the above

2) Hitler Party which came into power in 1933 is known as
A. Labour Party
B.: Nazi Party
C. Ku-Klux-Klan
D. Democratic Party

3) Galileo was an Italian astronomer who
A. Developed the Telescope
B. Discovered four satellites of Jupiter
C. Discovered that the movement of pendulum produces a regular time measurement

D- All of the above

4) Guarantee to an exporter that the importer of his goods will pay immediately for the goods
ordered by him, is known as
A.. Letter of Credit (L/C)
B. Laissez-faire
C. Inflation
D. None of the above

5) Gulf cooperation council was originally formed by
A.. Bahrain, Kuwait, Oman, Qatar, Saudi Arabia and United Arab Emirates
B. Second World Nations
C. Third World Nations
D. Fourth World Nations

6) First China War was fought between
A.- China and Britain
B. China and France
C. China and Egypt
D. China and Greece

7) Georgia, Uzbekistan and Turkmenistan became the members of UNO in

A.. 1991
B.» 1992
C. 1993

D. 1994 0



8) Ecology deals with
A. Birds
B. Cell Formation
C.¢ Relation between organisms and thelr environment

D. Tissues

9) GATT (General Agreement on Tariffs and Trade] is
A. International agreement signed in 1947 between non-communist nations with the
object of encouraging international trade unobstructed by tariff barriers
B. Agreement which seeks to achieve its aim by arranging and encouraging bargaining with
trade concessions between members
C. s Both option Aand B
D. None of the above.

10) Headquarters of UNO are situated at
A. New York, USA
B. Hague (Netherlands)
C. + Geneva
D. Paris

11) ESCAP stands for
A. Economic and Social Commission for Asia and Pacific
B.» European Society Council for Africa and Pacific
C. Economic and Social Commission for Africa and Pacific
D. None of the above

12) Free Market is

A. A condition in the international market where nations do not impose custom duty or
other taxes on import of goods

B. Market where the price of a commodity is determined by free play of the forces of
supply and demand

C. Ports that are exempted from payment of customs duty on articles of commerce,
primarily to encourage tourism

D.v None of the above.

13) ICAO stands for
A.. International Civil Aviation Organization
B. Indian Corporation of Agriculture Organization
C. Institute of Company of Accounts Organization
D. None of these

14) India is the grower of pulses.
A~ largest
B. Smallest
C. Appropriate for national need
D. None of the above



15) The first meeting of SAARC was opened in
A. Dhaka, Bangladesh
B. Bangalore, India
C.¢ Kathmandu, Nepal
D, islamabad, Pakistan

Logical Reasoning

16) Look at this series: V, VIII, XI, XIV, _, XX,... What number should fill the blank?

Ao IX
B. XXl
C. XV
D. XVII

17) Look at this series: 70, 71, 76, __, 81, 86, 70, 91, ... What number should fill the blank?

A 70
B. 71
c. 80
D. 96

18) Tanya is older than Eric.
Cliff is older than Tanya.
Eric is older than Cliff.
If the first two statements are true, the third statement is
A. True
B. . False
C. Uncertain
19) Blueberries cost more than strawberries.
Blueberries cost less than raspberries.
Raspberries cost more than strawberries and biueberries.
If the first two statements are true, the third statement is
A.s True
B. False
C. Uncertain

20) SCD, TEF, UGH, , WKL

A. CMN
B. UJI
C.. VU
D. UT

21) QAR, RAS, SAT, TAU,

A.« UAV
B. UAT
C. TAS
D. TAT



22) Odometer is to mileage as compass is t0

A. Speed
B. Hiking
C. Needie

D Direction

o
L

3} Cup is to coffee as bowl is to
A, Dish

B.e Soup

C. Spoon

D. Food

24) Reptile is to lizard as flower is to
A. Petal

B. Stem
C. Daisy
D. Alligator

25) Pen is to poet as needle is to

A. Thread
B. Button
Cs Sewing
D. Tailor

26) Which word does NOT belong with the others?

A. Parsley
B. Basil
c.. Dill

D. Mayonnaise

27) Which word does NOT belong with the others?

A. Tulip
B.« Rose
C. Bud

D. Daisy

28) Which word does NOT belong with the others?

A.. Street

B. Freeway

C. Interstate
D. Expressway

29) Which word does NOT belong with the others?

A. Cornea
B. Retina
C. * Pupil

D. Vision



30) Which word does NOT belong with the others?
A.» Book
B. index
C. Glossary
D. Chapter

Aptitute:

31} A two-digit number is such that the product of the digits is 8. When 18 is added to the
number, then the digits are reversed. The number is:

A, 18
Bs 24
C. 42
D. 81

32) The sum of the digits of a two-digit number is 15 and the difference between the digits is 3.
What is the two-digit number?

A. 69
B. 78
C. 9%

D. . Cannot be determined

33) It was Sunday on Jan 1, 2006. What was the day of the week Jan 1, 2010?

A. Sunday
B. Saturday
C. Friday

D. Wednesday

34) How many days are there in x weeks x days?

A 7X
B. 8x
C. 14x
D. 7

35) How many times are the hands of a clock at right angle in a day?

A 22
B. 24
C. 44
D.. 48

36) How many times in a day, are the hands of a clock in straight line but opposite in direction?

A. 20
B. 22
C.. 24
D. 48

37) A hallis 15 m long and 12 m broad. If the sum of the areas of the floor and the ceiling is
equal to the sum of the areas of four walls, the volume of the hall is:

A~ 720
B. 900
c. 1200
D. 1800



38) How many bricks, each measuring 25 cm x 11.25 cm x 6 cm, will be needed to build a wall of
Emxb6mu225cm?

A0 5600
8. 6000
C. 6400
D, 7260

39) There are two examinations rooms A and B. If 10 students are sent from A to B, then the
number of students in each room is the same. If 20 candidates are sent from B to A, then the
number of students in A is double the number of students in B. The number of students in
roomAis:

A. 20
B.s 80
c. 100
D. 200

40) The price of 10 chairs is equal to that of 4 tables. The price of 15 chairs and 2 tables together
is Rs. 4000. The total price of 12 chairs and 3 tables is:

A. Rs. 3500
B. Rs.3750
C.» Rs. 3840
D. Rs. 3900

41) Find the correctly spelt words
A.« Efficient
B. Treatmeant
C. Beterment
D. Employd

42) Find the correctly spelt words
A. Treachrous
B.* Trecherous
C. Trechearous
D. Treacherous

43) Fate smiles ...... those who untiringly grapple with stark realities of life.
A. With

B. Over
C.: On
D. Round

44) Catching the earlier train will give us the ...... to do some shopping.

A. Chance
B. lLuck
C.v Possibility

D. Occasion



45) Synonym of EMIBEZZLE
A. Misappropriate
B.« Balance
€. Remunerate
D. e Clear

46} Synonym of MOVING
A, Taking
B. Toying
C. Shifting
D. ¢ Turning

47) Antonym of ENORMOUS
A. Soft
B. Average
C.t Tiny
D. Weak

48) Antonym of EXODUS

A. influx
B. Home-coming
C.1 Return

D. Restoration

49) One word meaning - The study of ancient societies
A. Anthropology
B.+ Archaeclogy
C. History
D. Ethnology

50) One word meaning - Leave or remove from a place considered dangerous
A. Evade
B.t Evacuate
C. Avoid
D. Exterminate
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SEAT NO.
UNIVERSITY OF MUMBAI
hARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
ENTRANCE EXAMINATION
DIPI, ()MA E\E CUSTOMS CLEARANCE & FREIGHT FORWARDING (DCCFF)
DATE:29/06/2014 TIME : 11.00 AM TO 12.00 NOON MARKS 50

Quantitative Aptitude

1. From 3 boys and 4 girls, three persons are to be selected in such a way that at least one girlis selected. In how
many different ways can they be selected?

A.60 B.42 c.21 D. None of these
2. A man goes 10 meter due east and then 24 meter due north. Find the distance from the starting point.
A.26 meters B.24 meters C.28 meters D. 30 meters

3. Areduction of 20% in the price of sugar enables a purchaser to obtain 2.5kg more for Rs.160. Find the original
price per kg of sugar.

A.Rs.12 B.Rs.15 C.Rs.16 D.Rs.18

4. In the following figure, what is the area of the shaded circle inside of the square?

A.512 B.256 C.12.57 D.50.24



5. If XYZ Auto Company sold 23000 vehicles in 2010, how many were SUVs?

Percentage of Vehicle Types that XYZ Auto Company sold in 2010

Trucks, 17%

4-Door
Sedans, 33%

2-Door
Sedans, 25%

Others, 12%

A.2990 B.3030 C.3450 D.4760

Reading Comprehension

Read carefully the passage and answer the questions below:

On a certain afternoon, in the late springtime, the bell upon Tunstall Moat House was heard ringing at an
unaccustomed hour. Far and near, in the forest and in the fields along the river, people began to desert their
labors and hurry towards the sound; and in Tunstall hamlet a group of poor country folk stood wondering at the
summons.

Tunstall hamlet at that period, in the reign of old King Henry VI, wore much the same appearance as it wears
today A score or so of houses, heavily framed with oak, stood scattered in a long green valley ascending from the
river. At the foot, the road crossed a bridge, and mounting on the other side, disappeared into the fringes of the
forest on its way to the Moat House, and further forth to Hollywood Abbey. Half-way up the village, the church
stood among yews. On every side the slopes were crowned and the view bounded by the green elms and greening
oak-trees of the forest.

6. In which month might this passage have occurred?

A.September B.December C.August D. May



B

7. What did the people do when they heard the bell ring?

‘Athey screamed in terror

B.they ran away from it
C.they continued their work
D. they hurried towards it

8. What were the people probably doing before the bell began ringing?

A.farming

B.napping

C.waiting for the bell to ring
D. eating lunch

9. Why were the people confused by the ringing of the bell?

A.because they had never heard it before
B.because it came at an unusual time
C.because they loved King Henry VI

D. because they had been asleep

10. Where does the road from Tunstall hamlet lead?

A.to the Moat House
B.to the church
C.to the King's castle
D.to the ocean

11. Where is the church located in the village?

A.nearby

B.at one end
C.in the middle
D.underground

12. What does it mean that the ‘slopes were crowned with trees’?

A.the trees were covered in jewels
B.the trees were round

C.there were trees on top of the hill
D.the slopes were extremely dangerous



Reasoning

- 13. ldentify the odd figure in the series

] ]

14. Identify the next figure in the series

L1

A B C D

There is a certain relation between two given words on one side of : : and one word is given on another

side of : : while another word is to be found from the given alternatives, having the same relation with this word
as the given pair has, Select the best alternative.

15, Microphone : Loud : : Microscope : ?

A.lncrease |, B.Investigate C.Examine D. Magnify

16. Deep : Shallow : : Ocean: ?

A.Depth B.Well C.Pond D. Spring

@



Computer Basics

17.A is rectangular area that can contain a document, program, or message.

A.Window B.Menu C.Box D. Toolbox
18. Which of the following is not an operating system?

A.Windows B.Mac 0OS$ C.UNIX D. Norton

General Knowledge

19. Which city in Switzerland was the headquarters of the League of Nations?
A.Interlaken B.Geneva C.Zurich D. Basel

20. In which country is the city of Faislabad?

A. India B.Bangladesh  C.Afghanistan  D. Pakistan

21. Which is the longest river in India?

A.Gangés B.Yamuna C.Saraswati D. Bhramaputra

22. Which two countries are connected by Khyber Pass?

A.India-Pakistan B.Pakistan-Afghanistan C.india-China D. China-Pakistan
23. Which of the following is not an operating system?

A.Windows B.Mac OS C.UNIX D. Norton

Pick out the most effective word(s) from the given words to fill in the blank to make the sentence meaningfully

complete,

24, Fate smiles ...... those who untiringly grapple with stark realities of life.
A.with B.over C.on : D. round

25. Catching the earlier train will give us the....... to do some shopping.
A.chance B.luck C.possibility D. occasion

26. lsaw a ...... of cows in the field.

A.group B.herd C.swarm D. flock



27. it you smuggle goods into the country, they may be ...... by the customs authority..

A.possessed B.punished C.confiscated D. fined
28. Toerris...... to forgive divine
A.beastly B.human C.inhuman D. natural

In the following the questions choose the word which best expresses the meaning of the given word

29. BRIEF

A.limited B.Small C.Little D. Short

30. EMBEZZLE

A.Misappropriate B.Balance C.Remunerate D. Clear
31. ALERT

A.Energetic B.Observant C.Intelligent D. Watchful

32. VENT

A.Openil;lg B.Stodge C.End D. Past tense of go
33. FAKE

A.Original B.Imitation C.Trustworthy  D. Loyal

General Knowledge

34. How many squares are there in a chess board?

{(A) 36 (B) 48 (C) 64 {D) 72

35. The term Grénd Slam is associated with |

{(A) Billiards (B) Chess (C) . Cficket (D) Bridge and tennis

36. The first Europeans to start trade relations with India were the —

(A) Portuguese | (B} British (C) French | (D)k Dutch
37. The oceans cover of the surface of the earth.

(A) 71%  (B) 60%  (C) 81% (D)  90%



38. “lames Bond” is a character created by -

{A) tan Fleming (B} Perry Mason () Agatha Christie (D) Wode House
39. Lines on a map where pressures are equal, are called —

(A) Longitudes (8) Latitudes (©) Isobars (D) Isotopes

40.Which is the capital of Manipur?

(A) Dispur (B) Imphal {c) Agartala (D) None of these

41. Look at this series: 7,10,8,11,9,12, What number should come next?
(A) 7 (B) 10 Q) 12 (D) 13

42. Look at this series: 58, 52, 46, 40, 34, ... What number should come next?

(A) 26 (B) 28 (€) 30 (D) 32
43. CMM, E00, GQQ, Kuu
(A)  GRR (B)GSS (©) ISS (D) ITT

44. Depreciation means :

A. closure of a plant due to lock out

B. closure of a plant due to labour trouble

C loss of equipment over time due to wear

= and tear

D. destruction of a plant in a fire accident

45 ‘Kandla' is situated on the Gulf of Kachh is well known for which of the following?

Export Processing Zone

Centre for Marine Food products
Cutting and Polishing of diamonds
Ship breaking industry

N |= >

46. Today is Monday. After 61 days, it will be:

Saturday

Wednesday
Thursday

Tuesday

o>
O w



47. A and B invest in a business in the ratio 3 : 2. If 5% of the total profit goes to charity and A’s share Is R, 855,
the total profitis:

Rs. 1425 B. Rs. 1500
Rs. 1537.50 D. Rs. 1576

o

48. The cost price of 20 articles is the same as the selling price of x articles. If the profit is 25%, then the value of

X is:

A 15 B. 16

C. 18 D. 25

49, Find the odd one out: 3,5, 11, 14,17, 21

A. 21 B. 17

C 14 D. 3

50. Find the odd one out: 396, 462, 572, 427, 671, 264

A. 396 B. 427

C. 671 D, 264
A ok ok ok ok ok ok ke ok ke sk ke ok



: 23/06/13

TIME : 11.00AM 1

O 12.00 NOON

RES -

In each series, look for the degree and direction of change between tf
increase or decrease, and by how much (1 to 5)

1.

2.

"
J.

4.

5.

In these series, you will be looking at both the letter pattern and the number pattem Fill the blank in the ‘middle of

Look at thxs series: ,,1 (172), (114, ..

A (13)

C.  (8)
Look at this series: 7, 10, 8, 11, 9, 12

A, 7

C. 12
Look at this series: 36, 34, 30, 28, 24, ...

A. 20

C. 23 '

Look at this series: 22, 21, 23, 22, 24, 23, ...

A. 22

c. 25

5

Look at this series: 53, 53, 40, 40, 27, 27, ...

Ny

S Al 12

“C. 27

thé'series or end of the series. (6 to 8)

6.

SCD, T EF, UGH, , WKL

A. CMN

C. V1

B.

D.

B.

D.

B. -

D.
What number should come next?

B. .

D.
What number should come next?

B..

D.

B,

What number should come next?

(1/8)

(1/16)
, ... What number should come next?

10

13

What number should come next? .

22

26

24

26

14

537

unl

T

N

.

1e numbers. In other words, do the numbers



B,CD _ . BCLD

€. B,C4D . BCD;

8. FAG, GAF,HAL IAH,

A, JAK B. HAL

C. HAK - b. JAL

Read each definition and all four choices carefully, and find the answer that provides the best example of the given
definition. (9 to 10) )

9. A Guarantee is a promise or assurance that attests to the quality of a product that is either (1) given in writing
by the manufacturer or (2) given verbally by the person selling the product. Which situation below is the best
example of a Guarantee? : ' :

A. Melissa purchases a DVD player with the highest consumer ratings in its category.
B. The salesperson advises Curt to be sure that he buys an air conditioner with a guarantee.
C.  The local auto body shop specializes in refurbishing and selling used cars.

Lori buys a used digital camera from her coworker who says that she will refund Lori's money if the
p.  camera's performance is not of the highest quality. ‘ n

10. Establishing a Power of Attorney occurs when a legal document is created that gives one individual the
authority to act for another. Which situation below is the best example of Establishing a Power of Attorney?

A

A. Louise is selling her house and she hires a lawyer to review the contract.

Simone's mother can no longer get to the bank to cash her checks and make deposits, so she has

B taken legal steps to enable Simone to do these things for her.
C.  Jack's father is elderly and Jack thinks he is no longer able to make decisions for himself.
D. At her daughter's urging, Mrs. Lenox opens up a retirement account with the local bank.



Each problem consists of three statements. Based on the first two statements, the third siatement may be irue, false,

; , P
¥

neertain.{ 1] to 13

Fric is older than ChiT

i the first two staterments are true, the third statement is

A true
B. false

C.  uncertain

12 Blueberries cost more than strawberries.
Blueberries cost less than raspberries. :
Raspberries cost more than both strawberries and blueberries.
Ifthe first two statements are true, the third statement is

A. true
B. false

C. uncertain

I3. All the trees in the park are flowering trees.
Some of the trees in the park are dogwoods.
All dogwoods in the park are flowering trees.

If the first two statements are true, the third statement is S
A. true
B. false
C. - uncertain _ :

A good way to ﬁgure out the relationship in a given question (14 to 18) is to make up a sentence that describes the
relationship between the first two words. Then, try to use the same sentence to find out which of the answer choices
completes the same relationship with the third word. '

14. Odometer is to mileage as compass is to

A. speed = » B. hiking

C. needle \ D. direction



I3, Marathon is to race as hibernation is to

winter . bear

dream . . sleep

L6, Window is 1o pane as boolk 15 to

A novel B. glass
C. cover D. page

7. Cup is to coffee as bowl is to

A, dish B soup

=

C. spoon food
18. Yard is to inch as quart is to

A. gallon » B. ounce

C. milk N ~ D.  liquid

Three of the words will be in the same classification, the remaining one will not be. Your answer will be the one
- word that does NOT belong in the same classification as the others. (19 to 24)

19. Which word does NOT belong with the others?

A.  parsley " B. basil

C. dill . , D. mayonnaise
20. Which word does NOT belong with the others?

A. inch v B. ounce

C. centimeter T D. yard
21. Which word does NOT belong with the others?

A. tire . B. steering wheel -

C. - engine _ D. car
22. Which word does NOT belong with the others?

A, tulip - B. rose

. bud .



- ,-S

24,

Which word does NOT belong with the others?

boolk _ ' 3.

sl

clossary

Which word does NOT belong with the others?

A. unimportant , B.

C. insignificant

=4

index

chapter

frivial

familiar

First, you will be given a list of three "nonsense" words and their English word meanings. The questions (25 to 27)
that follow will ask you to reverse the process and translate an English word into the artificial language.

25.

26.

Here are some words translated from an artificial language.
gorblflur means fan belt

pixngorbl means ceiling fan

arthtus! means tile roof

Which word could mean "ceiling tile"?

A.  gorbltusl | ' B.

C. arthflur D.

Here are some words translated from an artificial language.
hapllesh means cloudburst

srenchoch means pinball

resbosrench means ninepin

Which word could mean "cloud nine"?

A. leshsrench . B!

C. B@ploch ‘ D.

Here are some words translated from an artificial language.

. agnoscrenia means poisonous spider

delanocrenia means poisonous snake
agnosdeery means brown spider
Which word could mean "black widow spider"?

A. deeryclostagnos ‘ . B.

C.  agnosvitriblunin ) D.

flurgorbl

pixnarth

ochhapl

héplresbo

\

agnosdelano

trymuttiagnos

In each question below (28 to 29) is given a statement followed by two conclusions numbered I and I1. You have to
assume everything in the statement to be true, then consider the two conclusions together and decide which of them
logically follows beyond a reasonable doubt from the information given in the statement.

Give answer:



> (A) Ifonly conclusion | follows

o {B) Hond mcizzshm T follows
o {(C) tteither [or 1] follows

@ (T [ neither I nor I fo Huws and

th
) I both [ and 11 follow.

Statements: Government has spoiled many top ranking financial institutions by appointing bureaucrats as
Directors of these institutions.

Conclusions: .
. Govemnment should appoint Directors of the financial institutes taking into consideration the expertise
of the person in the area of finance. ’
IL The Director of the financial institute should have expertise commensurate with the financial work

carried out by the institute.

A, Only conclusion | follows
E?. Only conclusion I follows
é. Either I or I follows
D.  Neither I nor I follows

E. Both [ and II follow

29. Statements: Populatioh increase coupled with depleting resources is going to be the scenario of many
developing countries in days to come. o

Conclusions:

I.  The population of developing countries will not continue to increase. in future.
IL * Itwill be very difficult for the governments of developing countries to provide its people decent
quahty of life.
A.  Only conclusion I follows
B. Only conclusion II follows

C.  Bither Tor I follows

D. Neit-her I nor II follows

=

Both I and 11 follow

In each of the following questions(30 to 33), two statements numbered I and I are given. There may be cause and .
effect relationship between the two statements. These two statements may be the effect of the same cause or

@



independent causes. These statements may be i‘m ependent causes without having any relationship, Bead both the
I P

sfaten

{A) I statement T is the cause and statement 17 is
{(B) If statement 11 is the cause and statement | is
{CyIfboth th
(D) If both the statements [ and [T are effects of independent causes: and
(E) If both the statements T and 11 are effects of some common cause.

s in each question and mark your answer as

atements | and [ are independent causes;

30. Statements:

IL

E.

The prices of petrol and diesel in the domestic market have remained unchanoed for the past few

months.
The crude oil prices in the international market have gone up substantially in the last few months

Statement | is the cause and statement I is it3 effect
Statement 11 is the cause and statement [ is its effect
Both the statements I and II are independent causes
Both the statements I and II are effects of independent causes

Both the statements I and II are effects of some common cause

31. Statements:

iL

E.

'
i

India has surpassed the value of tea exports this year over all the earlier years due to an increase in
demand for quality tea in the European market.
There is an increase in demand of coffee in the domestic market during the last two years. -

Statement I is the cause and statement [ is its effect
Statement [T is the cause and statement I is its effect

Both the statements I and II are independent causes

Both the statements I and IT are effects of indepéndent causes

Both the statements I and II are effects of some common cause

32. Statements:

1L

-

£

The Government has 1mportec ]arge quantities of sugar as per trade agreement with other countries.

" The prices of sugar in the domestic market have fallen sharply in the recent months,

Statement I is the cause and statement 11 is its effect

Statement 11 is the cause and statement | is its effect

&
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Foth the statemnents | and 1 are independent causes
. Both the statements | and 11 are effects of independent causes

v, Both the statements T and H are effects of some common cause

ias)
Ctatmnmanmdos
2. Statements:

L. There is sharp decline in the production of oil seeds this year.
IT. The Government has decided to increase the import quantum of edible oil.
A. Stateme11t [ is the cause and statement 11 is its effect
B. Statement I is the cause and statement | is its effect
C. Both the statements [ and II are independent causes

D. Both the statements 1 and I1 are effects of independent causes

E. Both the statements I and II are effects of some common cause

The sheet of paper shown in the figure (X) given on the left hand side, in each problem, is folded to form a box.
Choose from amongst the alternatives (1), (2), (3) and (4), the boxes that are similar to the box that will be formed.

34. Choose the box that islsimila} to the box formed from the given sheet of paper (X).

e f‘ ‘ 113 &) .
A. [ and2 only B. 2 and 4 only b
C. 2and3only D. 1and 4 only

The following questions(35 to 39) are based on the information given below:

1. A cuboid shaped wooden block has 6 cm length, 4 cm breadth and 1 cm height.

2. Two faces measuring 4 cm x 1 ¢m are coloured in black. _

3. Two faces measuring 6 cm x 1 cm are coloured in red. h

4. Two faces measuring 6 cm x 4 cm are coloured in green.

5. The bléck is divided into 6 equal cubes of side 1 cm (from 6 cm side), 4 equal cubes of side 1 cm(from 4

cm side).

®



35 How many cubes havmg red, green and black colours on at least one side of the cube will be formed 7

A 16 . 12

. 10 . 3. i
20 How many small cubes will be formed?

C. 16 ) D 24
37, How many cubes will have 4 coloured sides and two non-coloured sides ?

A. 8 _ B. 4

C. 16 ' ' D. 10
38. How many cubes will have green colour on two sides and rest of the four sides having no colour ?

A 12 o B. 10

c. 8 o | D4
39. How many cubes will remain if the cubes having black and green coloured are removed ?

A. 4 B. 8

C. 12 ' - D. 16

40. One morning Udai and Vishal were talkiﬁg to each other face to face at a crossing. If Vishal's shadow was
exactly to the left of Udai, which direction was Udai facing? L

A, East . . - B. West

C. North ‘ . : D. South

41. A man walks 5 km toward south and then tums to the right. After walking 3 km he.turns to the left and WAIks 5
km. Now in which direction is he from the starting place? '

[N

A West . B. South

C.  North-East ' ' - D.  South-West

42. One mOrning sujata started to walk towards the Sun. After covering some distance she turned to right then again
to the right and after covering some distance she again turns to the right. Now in which diréction is she facing?

A, North s B. South

C.  North-East - D.  South-West



o

Eriirea, which became the 182nd member of the n 1993 1s in the continent of

i, Africa

. Europe . Australia
44 {
+4. FFC stands for

A.~  FPoreign Finance Corporation
B. - Film Finance Corporation
C.  Federation of Football Council

D. None of the above

45. Guarantee to an exporter that the importer of his goods will pay immediately for the goods ordered by him, is
known as

A.  Letter of Credit (L/C)
B. laissezfaire
C. inflation

D. None of the above
46. Dumping is

A. sélling of goods abroad at a price well below the production cost at the home market price '

the process by whxch the supply of a manufacture's product remains Iow in the domestic market,
which batches h1m better pnce B

C. pro}‘libited by regulations of GATT
D. All of the above

47. Free market is

a condition in the international market where nations do not impose customs duty or other taxes

A.
_on import of goods - ’
5 market where the prlCG of a commodity is determined by free-play of the forces of supply and
‘ demand
c ports that are exempted from payment of customs duty on articles of commerce, primarily to
encourage tourism
. None of the above



GATT (General Agre

7 between non-communist nations with the object of

£ L . ) s :
encouraging international trade unobstructed by tariff barviers
B agreement which seeks to achieve its aim by arranging and encouraging bargaining with trade

concessions between members N

C. Both option A and B

D. None of the above

49. States earn maximum revenue through

A, land revenue

|&

custom revenue -

I

commercial taxes

D. excise duties on intoxicants
50. Excise duty is a tax levied on the

A. import of goods
B. expor’tb of goods
C. production of goods " . %

% . N

D. sale of goods : o N
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SEAT NQO. :

UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
DIPLOMA IN CUSTOM CLEARANCE & FREIGHT FORWARDING
ENTRANCE EXAM

DATE : 17-Jun-i2 TIME : 11.00AM TO 12.00 NOON MAREKS : 50

NOTE: Put a tick (/) on the correct answer option on Given Grid Paper.
One blank paper is enclosed for rough work.

1. The sum of ages of 5 children born at the intervals of 3 years each is 50 years, What is the age
of the youngest child?

A4 years B.8 years
C.10 years D.None of these

2. Present ages of Sameer and Anand are in the ratio of 5 : 4 respectively. Three years hence, the
ratio of their ages will become 11 : 9 respectively. What is Anand’s present age in years?

A24 B.27
C.40 ‘ D.Cannot be determined -
E.None of these
3. Which one of the following is not a prime number?
A31 - B.61
c.71- D.91
4. 1397 x 1397 =7
A.1951609 B.1981709
C.18362619 ' D.2031719

E.None of these

5. A train running at the speed of 60 km/hr crosses a pole in 9 seconds. What is the length of the
train?

A.120 metres B.180 metres
C.324 metres D.150 metres.

6. A train passes a station platform in 36 seconds and a man standing on the platform in 20
seconds. If the speed of the train is 54 km/hr, what is the length of the platform?

A 120 m B.240m
C.300m D.None of these

7. 3 pumps, working 8 hours a day, can empty a tank in 2 days. How many hours a day must 4
pumps work to empty the tank in 1 day?

A8 B.10
C.11 D.12-

8. 39 persons can repair a road in 12 days, working 5 hours a day. In how many days will 30

@



persons, working 6 hours a day, complete the work?

A0
C.14

Pick out the most effective word(s) from the given words to fill in the blank to make the

sentence meaningfully complete.

9. Fate smiles ...... those who untiringly grapple with stark realities of life.

A.with
C.on
10. Catching the earlier train will give us the ......
A.chance |
C.possibility
M.lsawa..... of cows in the field.

A.group

C.swarm

B.13
D.15

B.Over

D.Round

to do some shopping.
B.luck

D.occasion

B.herd
D.flock

12. If you smuggle goods into the country, they may be ......

A.possessed

C.confiscated

13. Toerris ...... to forgive divine.
A.beastly

C.inhuman

In the following the questions choose the word which best expresses the meaning of the

given word

14. BRIEF
A.Limited

C.Little
15.EMBEZZLE
A.Misappropriate

C.Remunerate

16.ALERT

B.punished

D.fined

B.Human

D.Natural

B.Small

D.Short.

B.Balance

D.Clear

by the customs authority.

£,



A.Energetic
C.intelligent

17 VENT
A.Opening
C.End
18.FAKE
A.Original
C.Trustworthy

Find the correctly spelt words.

19.(solve as per the direction given above)

A.Efficient

C.Beterment

20.(solve as per the direction given above)

A.Foreign

C.Fariegn

21.(solve as per the direction given above)
A.Pessenger

C.Pasanger

B.Observant

D Watchful

B.Stodge

D.Past tense of go

B.Imitation

D.Loyal

B.Treatmeant

D.Employd

B.Foreine

D.Forein

B.Passenger

D.Pesanger

In each question below, there is a sentence of which some parts have been jumbled up.
Rearrange these parts which are labelled P, Q, R and S to produce the correct sentence.

Choose the proper sequence.

22.When he

P : did not know

Q : he was ne:vous and

R : heard the hue and cry at midnight
S what to do

The Proper sequence should be:

A.RQPS

B.QSPR

o
i N )
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C.SQPR D.PQRS
23.Since the beginning of history

P have managed to catch

Q : the Eskimos and Red Indians

R : by a very difficulty method

S : a few specimens of this aquatic animal

The Proper sequence should be:
A.QRPS B.SQPR -
C.SQRP D.QPSR -

In questions given below out of four alternatives, choose the one which can be substituted
for the given word/sentence.

24.The study of ancient societies

A.Anthropology B.Archaeology
C.History D.Ethnology
25.That which cannot be corrected

A.Unintelligible B.Indelible
C.lllegible | D.Incorrigible
26.State in which the few govern the many

A.Monarchy : B.Oligarchy
C.Plutocracy D.Autocracy

In the following questions choose the word which is the exact OPPOSITE of the given
words.

27.COMMISSIONED
A.Started B.Closed
C.Finished D.Terminated

28.RELINQUISH
A.Abdicate B.Renounce
C.Possess _ D.Deny
29.ENORMOUS

-
ff(‘ ™,
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A Soft B.Average

C.Tiny D Weak
30.EXODUS
A nflux | B.Home-coming
C.Return D.Restoration

In each series, look for the degree and direction of change between the numbers. In other
words, do the numbers increase or decrease, and by how much

31.Look at this series: 7, 10, 8, 11, 9, 12, ... What number should come next?
A7 B.10

C.12 D.13

32.Look at this series: 22, 21, 23, 22, 24, 23, ... What number should come next?
A.22 ' B.24

C.25 D.26

In these series, you will be looking at both the letter pattern and the number pattern. Fill the
biank in the middle of the series or end of the series.

33.8CD, TEF, UGH, __, WKL

A.CMN B.UJI
C.ViJ D.NT
34.ELFA, GLHA, ILJUA, __ , MLNA

A.OLPA B.KLMA
C.LLMA . D.KLLA
35.CMM, EOO, GQQ, _,KUU

A.GRR B.GSS
C.ISS DATT

36.FAG, GAF, HAI, 1AH,
A JAK B.HAL
C.HAK D.JAl




A good way to figure out the relationship in a given question is to make up a sentence that
describes the relationship between the first two words. Then, fry to use the same sentence to find
out which of the answer choices cormpletes the same relationship with the third word.

37 Window is to panie as book is to
A.novel
C.cover
38.Cup is to coffee as bowl is to
A.dish
C.spoon
39.Marathon is to race as hibernation is to
A.winter
C.dream
40.0dometer is to mileage as compass is to
A.speed
C.needle
41.The great Victoria Desert is located in
A.Canada
B.West Africa
C.Australia

D.North America

B.glass
D.page

B.soup

D food

B.bear

D.sleep

B.hiking

D.direction

42.The intersecting lines drawn on maps and globes are

A latitudes
B.longitudes
C.geographic grids

D.None of the above

43.The largest gold producing country in the world is

A.China
B.Canada
C.South Africa
D.USA



44.The largest fish exporting region in the world is
A.the north-east atlantic region
B.the north-east pacific region
C.the north-west pacific region
D.the south-east asian region
45.Who was known as Iron man of India?
A.Govind Ballabh Pant
B.Jawaharlal Nehru
C.Subhas Chandra Bose
D.Sardar Vallabhbhai Patel

46.Who fits with this description 'Indian Cotton merchant, Banker, Congressman, a close associate
of Mahatma Gandh_i'\?

AM.R. Jayakar
B.V. S. Sastri
C.G. D. Birla
D.Jamanlal Bajaj
47.R. K. Laxman is a renowned
A.Dance master
B.Writer
C.Cartoonist
D.Journalist
48.Which of the following is not associated with the UNO?
AILO B.WHO
C.ASEAN ' D.All of the above
49.The member countries of NAFTA are
A.USA and Canada
B.USA, Canada and Mexico
C.Canada and Mexico

D.USA and Mexico



50.The members of the Rajya Sabha are elected by

A the people
B.Lok Sabha
C.elected members of the legislative assembly

D.elected members of the legislative council

Fhkkkihkkk




DATE (17-JULY - 2043 TIME : 11 AMTO 12,00 NOON “%Efiﬁ&‘w 155

(o3 5 ‘M@Q i the Chigf Law Officer of the G arament of Indla?
{ay . The Chief justice of India
(b} The Registrar of the Supreme Court
{€} . The Law Minister of India
{d} The Attorney General of India

Q.4: Find the correctly spalt word:
{zy  Efficient
{h} Tregtmearnt
{c} Betermerit
{d) Employd

(.31 Find the correctly spelt word:
{a) Foreine

{in Foreign
{) Fariegn
{d} Foreln

©.4: Choose the correct option if the staiement is Incorrect = Tﬁe man to m;m my
" house was a cheat,

{8}  To whom I sell

(b} . Towho Isell

{t} . Towhom I sold

{d) No. correction required,

Q.5: Which of the following is correctly matched?
{a} Gulbarga - Karnataks
b Midnapur ~ Gujarat
{cy Wardha ~ Madhya Pradesh
{d}  Cochin ~ Tami-Nadu

Q.6: Which of the following i5 incorractly matchad?
{a} Encephalitis ~ Brain
{b) Colitis - Colon
{c} Hepatitis - Liver
{d}  Jaundice ~ Throat

| Q.71 which of the following types of clothes is manufactured by using patroleum
products?
{a} Rayon Sitk
{b}  Terslyne
(¢ HNylon
{4y <Cotton

Page 1 of 7




(¢

(5}
(©)
(@)

Q.8; Which among the following is the most

{83 Hydrogen
by Oxygen

(¢} Magnesium

{d} Alumdniuryy

Q.10 Which of the foitowing writs rray be i
{8}  tabeas Corpus .
(G} Mandamus
{c} Prohibition
{d) Certiorar

comman in the earth’s crose?

sasted to enforce a fundamental Righty

Q.11 Srinagar is situated on the banks of the river-

{a) Ravi
{8} Sutlej
{c} Jhelum
{d)  Chenab

Q.12 Blue Revolution is related o~
{8)  Fish production
()] Milk production
() Cil production
() Food production

Q.13 The Sphere of the Hving matter together with water, air 35d 50l o the surface of

the earth Is known as «
{8} Lithosphere

{b) Biosphere

{c) Hydrosphere
{d} Atmosphere

Q.14 Which city is famous for oranges?
(3}  Ratnagiri i
{b)  Darjeeling
{x) Nagpur
{d} Lucknow

(.15 How many squares are there in a chess board?

{a} 38
by a8
{c} - 64
{d} 72




.08 Yakshagan is the famous dane & form of the @ of ~
“{a} Atdbra Pradesh
{b} Orvissa
{3 Karmataka
{dy - Tamidl Nado

(.17 Which is the <apital of Manipur?
&3 Bzapur
(b} Imphai
{3 Agartaia
{z:f} None of these

Q18 IC chips used in cam;z!;ter':; are usually made of -

{a} Lead

{b} Silfcon

{c} Chromium
{4y Gold

Q.19 “City of Golden Gates” ig -
{a} Hawaii
(b}  San Francisco
{£) London
{d} Pars

Q.20 The study which deals with secrel viriting fs known as -~
{8) ‘Cryptography
(b} Secrerology
{c) Cytography
{d)  Cryptology

Q.21 The term Grand Slam is awocrated with ~
{a) . Billiards
(b} Chess
(<) Cricket
{d) Bridge and tennis

Q.22 The oceans cover . of the surface of the earth,

{a} 7i%
By  60%
€y B1%
(d} 96%

.23 "lames Bond” is a character cradted by ~
{a} Tan Fleming
(b}  Perry Mason
{} Agatha Christie
{d}  Wode House
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L& Acupunctuie 8 widely praciiced in -
{a} feudia
{ by Americas
{c} Ching
{8y Garmany

(.25 Largest river in the world ig -
(ay Mz :
{b}  Brahmaputra
{3  Amazon
{d}  Mississipni

Q.25 Lines on a map whers pressares are gqual, gre calied -
{a} Longitudes
{B) Latitudes
{c} Isobars
{dy  Isotopes

Q.27 All revenues received and loans raised by the Union Government go into ~
{a} Public Accounts of India
{b)  Consofidated fund of India
{c} Contingency fund of India
{d} None of these,

Q. 28 Which of the following cities of {ndfa is called the “Silicon Valley of India™?
{a) Hyderabad
{b) Bangalore
{c} Murbal
{d} Chennal

3.28 The role of chiorophyil in photosynthesis is.
{a)  Absorption of water
{b)  Absorption of light
{c}  Absorption of Co2
{d)  HNone of these,

Q.30 The first Europeans to start trade relations with India were the ~
(a) - Portugusse ‘

{b) British
{¢}  French
(d} . Dutch

Q.31 Process of breeding fish In ;}fmds and amﬁua! reservoirs is knowin as ~
{a} - Aguadulture -

{b} Fishing

{c) Apicutture

(d}  Pisciculture
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.32 What s meant by myopia?
{8)  Long-Sightsdness
{hy Short-gsightedness
{e} Colour blindness
{d}  wight blindness

G.33°The sea route to India was discovered by the -
{&) Dutch
{b} English
{c} Portuguese
{dy  French

Q.34 Which was the first amonyg the following?
{8} Doctrine of Lapse
(b} Subsidiary Alflance
{c} Parmanent Settlement
{d} Double government

Q.35 The refics of Indus Valley Civilization indicates that the main occupation of the
‘people was -~ : : o
{a) Agriculture’

{b} Cattle Rearing
(c} Commaerce
{d) Hunting

Q.36 Protective foods in our diel are
(a) Fats and vitamins
{b}  Carbohydrates and minerals
{c)  Vitamins and minerals
{d) Proteins and carbohvdrates

(.37 The term 16 vards hit is associated with
{a) Polo
(b}  Hockey
{¢) Baseball
(d} Badminton

(2.38 The International Court of Justice has
{8)  10%udges” -
(b} 15 judges
{c) 20 judges
{d} 25 judges

Q.39 The Olympic Games 2008 were hald in
{@) Tokyo
(Y Madrid
{¢} Stockholm
{d) . Beiing




tedd for Indig is —

Q.40 Nor-conventional source of enargy be
{8}  Solar Bosrgy
(I Wind Energy
{e}  Tidal Wave Enargy
{dy - Nuclear Energy

3.4 Look at this serfas: 7, 10,8,11,5,12, What number should come nexi?

{ay 7

by 10

{c) 12

{d} 13

Q.42 Look at this series; 58, 52, 45, 40, 34, .. What number sho;;?z:ﬁmme riExt?

{a} 26 : i

{b} 28

{c} 30

{el} 3z

. Q.43 (1 Tanya is older than Eric. {2)CH#F is older than Tanya. {3)Eric is older than CHff,
If the first two statements are true, the third statement is

{a} True

(b} False

(£} Uncertain

Q44 CMM, EOD, GQQ, .., KUU

{a) GRR
(b} GSS
{€y 188
@ v

.45 Marathon is to Race as hibernation is to
{a} Winter

(b} Bear
{c} Dream
{d} Sleep
Q.46 Exercise is to gymi as eating is to
{a)  Food -
{b) Dieting
{¢) Fitness

{d)  Restaurant

.47 Choose the word thet is a neckssary part of the word ~ HARVEST
C{a}  Autumn .
{b) Stockplie
{c} Tractor
{d} Crop
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.49 Which of the following countries |

(8] Nepal

{3 Bangladesh
{c) Afghanistar
{d}  Myanmar

Q.50 what did 1.8, Dunlop invent?

{a) neumatic rubber tyre
{b) Automoblie whes! ring
{c) Rubber Boot

{d) Mode! alrplanes

518 ot a member of SAARCY

FOR R R K T WK AR R B Rk
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UNIVERSITY OF MUMBAJX SEAT nO.
GARWARE INSTITUTE OF CAREER EDUCATION AND DEVELOPMENT
DIPLOMA IN CUSTOMS CLEARANCE AND FREIGHT FORWARDING
ENTRANCE TEST EXAMINATION 2010
18 JULY 2010 50 MARKS

I. The language with the richest vocabulary is:
A. Hindi
B. French
C. English
D. German

2. The Oldest Indian Language is:
A. Telugu
B. Hindi
C. Tamil
D. Punjabi

3. Which of the following book was written by Tulsidas?
A. Vinay Patrika
B. Ramcharitmanas
C. Both (A) and (B)
D. Yashodhara

4. Who developed the small pox vaccination?
A. Eduard Jenner
B. Alexander Fleming
C. Albert Einstein
D. None of these

5. Who is also known as the ‘Lady with the Lamp™?
A. Florence Nightingale
B. Sarojini Naidu
C. Rani Laxmibai
D. Bachendri Pal

6. Where is the sports stadium Green park located?
A. Kanpur
B. Jamshedpur
C. Cuttack
D. Patiala

7. On which date is Nobel Prize awarded?
A. December 10
B. January 10
C. April 10
D. July 10
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8. Badminton is the national sport of:
A. Malaysia
B. Scotland
C. China
D. Former Soviet Union

eo was an [talian astronomer who:

Developed the telescope

Discovered 4 satellites of Jupiter

Discovered that the movement of the pendulum produces a regular time
measurement

All are correct.

9. Gali

o

cwp

=

10. The play/book © Shakuntala’ was written by:
A. Maithili Sharan Gupt
B. Swami Dayanand
C. Kalidas
D. Tulsidas

11. If 2x-y = 4 then calculate 6x-3y =?
A. 15
B. 12
C. 18
D. 10

12. Calculate (1/10)18 — (1/10)20 =?
A. 99/1020
B. 99/10
C. 0.9
D. None of these

13. Look at this series: 2, 4, 6,8,10, . What number should come next?
A 11
B. 12
C. 13
D. 14

14. Series: 201, 202, 204, 207, what number should come next?
205
208
210
211

oow e
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15 Series: 8,22, 8,28,8,  what number should come next?
A9
B. 29
C. 32
D. 34

16. Cup is to coffee as bowl is to -
A. dish
B. soup
C. spoon
D. food

17. Window is to pane as book is to —
A. novel
B. glass
C. cover
D. page

18. Pen is to poet as needle is to —
A. thread
B. button
C. sewing
D. tailor

19. A, B, C, D and E are sitting on a bench. A is sitting next to B, C is sitting next to
D, D is not sitting with E who is on the left end of the bench. C is on the second
position from the right. A is to the right of B and E. A and C are sitting together.
In which position A is sitting?

A. Between B and D
B. Between B and C
C. Between E and D
D. Between C and E

20. Which one of the following is not a prime number?
A. 31
B. 61
C. 71
D. 91

21. Synonym of INDICT is -
A. Condemn
B. Reprimand
C. Accuse
D. Allege
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22. Synonym of SCINTILLATING is -
A. Smouldering
B. Glittering
C. Touching
D. Warming

23. Opposite of VIRTUOUS is —
A. Wicked
B. Corrupt
C. Vicious
D. Scandalous

24. Opposite of LEND is —
A. Borrow
B. Cheat
C. Pawn
D. Hire

2010-2011

Read each sentence of 25 & 26 to find out whether there is any grammatical error in it. The error, if
any will be in one part of the sentence. The letter of that part is the answer. If there is no error, the

answer is 'D'". (Ignore the errors of punctuation, if any).

25. Solve as per direction above —

The brakes and steering failed

and the bus ran down the hill
without anyone being able control it

No error.

oWy

26. Solve as per direction above —
A. He wanted to work all night
" B. but we saw that he was completely worn
C. and so we persuaded him to stop
D. No error.

27. Find the correctly spelt word.
A. Survaillance
B. Surveillance
C. Survellance
D. Surveilance

28. Find the correctly spelt word.
A. Ttinarery
B. Itinerary
C. ltenary
D. ltinarary
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29. Vande Mataram was first sung at the session of the Indian National Congress in
A. 1892
B. 1896
C. 1904
D. 1886

30. The title * Vikramaditya’ was assumed by
Harsha

Chandragupta I1

Kanishka

Samudragupta

SEei-E=

31. The central banking functions in India are performed by the
A. Central Bank of India and Reserve Bank of India
B. Reserve Bank of India
C. Central Bank of India
D. Reserve Bank of India and State Bank of India.

32. ICICI is the name of a
A. chemical industry
B. bureau
C. corporation
D. financial institution

33. In the last one decade, which one among the following sectors has attracted the
highest foreign direct investment inflows into India?
A. Chemicals other than fertilizers
B. Services sector
C. Food processing
D. Telecommunication

34. Which of the following is the most appropriate cause of exports surplus?
A. Country’s export promotion value
B. Country’s stringent import policy
C. Developments in national and international markets
D. None of the above

35. States earn maximum revenue through
land revenue

custom revenue

commercial taxes

excise duties on intoxicants

oW
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36. Excise duty is a tax levied on the
A. import of goods
B. export of goods
C. production of goods
D. sale of goods

37. The condition of indirect taxes in the country’s revenue is approximately
A. 70 percent
B. 75 percent
C. 80 percent
D. 86 percent

38. Devaluation of currency will be more beneficial if
A. prices of domestic goods remain constant
B. prices of export goods remain constant
C. prices of imports remains constant
D. prices of exports rise proportionately

39. Of the gross tax revenue of the Union government the indirect taxes account for
nearly
A. 70 percent
B. 75 percent
C. 65 percent
D. 60 percent

40. Which of the following is not an undertaking under the administrative control of
Ministry of Railways? :
A. Container Corporation of India Limited
B. Konkan Railway Corporation Limited
C. Indian Railways Construction Company Limited
D. Diesel Locomotive Works, Varanasi

41. The members of the Rajya Sabha are elected by
A. the people
B. Lok Sabha
C. FElected members of the legislative assembly
D. Elected members of the legislative council

42. The power to decide an election petition is vested in the
A. Parliament
B. Supreme Court
C. High courts
D. Election Commission
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4% The members of Lok Sabha h

A. 4 years
B. 5 vyears
C. 6 years
D. 3 years

44. The position of a chief minister is

45. The power to prorogue the Lok Sabha rests with
the speaker

the president

the prime minister
the minister for parliamentary affairs.

A.
B.
C.
D.
A.
B.
C.
D.

46.

47.

similar to that of the prime minister
identical to that of the president

a combination of the position of the prime minister and president
not constitutional

sid office for a team of
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48. QPO, NML, KJI,
AL HGF
B. CAB
C.JKL
D. GHI

49. JAK, KBL, LCM, MDN, _
A. OEP
B. NEO
C. MEN
D. PFQ

50. CMM, EOO, GQQ,
A. GRR
B. GSS
C.ISS
D.ITT

, KUU

KKK KOK SR KOR KKK KR KKK
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SEAT NO. : SUPERVISOR SIGN.:

DATE:

UNIVERSITY OF MUMBAI'S
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
DIPLOMA IN CUSTOM CLEARANCE & FREIGHT FORWARDING (DCCFF)
ENTRANCE EXAM

26-JUN-16 TIME : 11.00AM TO 12.00 NOON MARKS : 50

NOTE: 1) DONOT CARRY YOUR MOBILE IN THE EXAMINATION HALL

[ ]

II.

2) PUT A TICK (V) ON THE CORRECT ANSWER OPTION ON THIS GRID PAPER.
3) RETURN GRID PAPER.

General Knowledge
Who became the new President of the Federation of Indian Chambers of Commerce and Industry (FICCI)
in January 21027
A. Naina Lal Kidwai
B. Sidharth Birla
C. R.V. Kanoria
D. Shikha Sharma

Which of the following descriptions accurately reflects the typical services of a freight forwarder?
A. Negotiate the purchase contract, provide transport, and make payment for goods

B. Arrange shipment, manage customs clearance, and make payment for goods

C. Arrange transportation of goods, manage documentation, and arrange customs clearance
D. Negotiate import duty payments, arrange agent’s commission, and deliver products.

What does NVOCC stand for?

A. Non Voyaging Cargo Carrier

B. Non Vessel Operating Common Carrier
C. Non Vessel Ocean Container Cruiser
D. None of the above

What type of company is in charge to control the reception and delivery of goods and documents at
destination? .

A. Agent

B. Customs

C. Shipper

D. None of the above.

Where is the Headquarters of Organization of the Petroleum Exporting Countries (OPEC)?

A. Riyadh, Saudi Arabia

B. Dubai, United Arab Emirates
C. Vienna, Austria

D. Baghdad, Iraq

What does B/l stand for?
Bill of Landing

Bill of Lading

Boat Load

None of the above.

Logical Reasoning: Analogies:

Odometer is to mileage as compass is to
A. Speed

B. Hiking

C. Needle

D. Direction

oowp

Window is to pane as book is to
A. Novel

B. Glass

C. Cover

D. Page

Cup is to coffee as bowl is to
Dish

Soup

Spoon

Food

“Cow>



10. Reptile is to lizard as flower is to

DowEE

Petal
Stem
Daisy
Alligator

11, Play is to actor as concert is to

DCow»

II1.

Symphony
Musician
Piano
Percussion

Logical Reasoning: Number Series:

12. Look at this series: 22, 21, 23, 22, 24, 23,

A.
B.
C.
D.

22
24
25
26

13. Look at this series: 53, 53, 40, 40, 27, 27,

A.
B.
C.
D.

12
14
27
53

... What number should come next?

... What number should come next?

14. Look at this series: 8, 22, 8, 28, 8, ... What number should come next?

A.
B.
C.
D.

S

29
32
34

15. Look at this series: 2, 6, 18, 54, ... What number should come next?

A. 108
B. 148
C. 162
D. 216

16. Look at this series: 8, 6, 9, 23, 87, ... What number should come next?

Iv.

vopw>

128
226
324
429

Aptitude:

17. Which one of the following is not a prime number?

A.
B.
C.
D.

31
61
71
91

18. A grocer has a sale of Rs. 6435, Rs. 6927, Rs. 6855, Rs. 7230 and Rs. 6562 for 5
consecutive months. How much sale must he have in the sixth month so that he gets an
average sale of Rs. 65007

A.
B.
C.
D.

Rs.4991
Rs.5991
Rs.6001
Rs.6991



19. There are two examinations rooms A and B. If 10 students are sent from A to B, then the
number of students in each room is the same. If 20 candidates are sent from B to A, then
the number of students in A is double the number of students in B. The number of
students in room A is:

A. 20

B. 80

C. 100

D. 200

20. The price of 2 sarees and 4 shirts is Rs. 1600. With the same money one can buy 1 saree
and 6 shirts. If one wants to buy 12 shirts, how much shall he have to pay?
A. Rs.1200
B. Rs.2400
C. Rs.4800
D. Cannot be determined

V. Find the odd one out:
21. 3,5,11,14,17,21
21

17
14

oCowm»

22.  6,9,15, 21, 24, 28, 30
A. 28

21
24
30

onw

23. 8,27,64,100, 125, 216, 343
A. 27
B. 100
C. 125
D. 343

24. 396, 462,572,427, 671, 264
A. 396
B. 427
C. 671
D. 264

25. Today is Monday. After 61 days, it will be:
Wednesday

Saturday

Tuesday

Thursday

oWy
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A 4
B. 7
C. 3
D. 5
30.
Which letter replaces the question mark?
A. M
B. X
C. O
D. T
31.
Which segment fills the gap to complete puzzle?
1
4

moow»
nhH wWhN =
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32.

ocow»
ZTROWm

VIII.

33.

34.

35.

IX.

36.

Each problem consists of three statements. Based on the first two statements,

the third statement may be true, false, or uncertain.

Tanya is older than Eric.

Cliff is older than Tanya.

Eric is older than CIiff.

If the first two statements are true, the third statement is

A. True

B. False

C. Uncertain

D. None of the above

Blueberries cost more than strawberries.

Blueberries cost less than raspberries.

Raspberries cost more than strawberries and blueberries.
If the first two statements are true, the third statement is

A. True

B. False

C. Uncertain

D. None of the above

Mara runs faster than Gail.

Lily runs faster than Mara.

Gail runs faster than Lily.

If the first two statements are true, the third statement is

A. True

B. False

C. Uncertain

D. None of the above

In these series, you will be looking at both the letter pattern and the number
pattern. Fill the blank in the middle of the series or end of the series.

SCD, TEF, UGH, , WKL, CMIN
A, UL
B. VD
C. D7



37.  FAG, GAF, HAIL, IAH,
A. JAK
B. HAL
C. HAK
D. JAI

38. ELFA, GLHA, TLIA, ; MLNA
A. OLPA
B. KLMA
C. LLMA
D. KLLA

39. CMM, EOO, GQQ, , KUU

GRR
GSS
ISS
T

Cow>»

X. Choose the word which is the exact OPPOSITE:

40. ARTIFICIAL
A. Red
B. Natural
C. Truthful
D. Solid

41. EXODUS
A. Influx
B. Home-coming
C. Return
D. Restoration

42. TANGIBLE
Ethereal
Concrete
Actual
Solid

OO

XI. Correct the sentences:

43. The small child does whatever his father was done.
A. has done
B. did
C. does
D. had done

44. There are not many men who are so famous that they are frequently referred to by their
short names only
A. initials
B. signatures
C. pictures
D. middle Names

45. He is too important for tolerating any delay.
to tolerate

to tolerating

at tolerating

with tolerating

cow>

XII. Find the correctly spelt words.

46. (solve as per the direction given above)
Foreign

Foreine

Fariegn

Forein

vow>



47. (solve as per the direction given above)

A. Benefitted
B, Benifited
C. Benefited
D. Benefeted

48. {solve as per the direction given above)
Equanimity

Equannimity

Equanimmity

Equinimity

ooy

XIII. Read the each sentence to find out whether there is any grammatical error in
it. The error, if any will be in one part of the sentence. The letter of that part
is the answer. If there is no error, the answer is 'D'. (Ignore the errors of
punctuation, if any).

49. (solve as per the direction given above)

We discussed about the problem so thoroughly
on the eve of the examination

that I found it very easy to work it out

No error.

oo

50. (solve as per the direction given above)
A. An Indian ship
B. laden with merchandise
C. got drowned in the Pacific Ocean.
D. No error.

%k K K K KKk k



